scientific notation
Scientists developed a shorter method to express
very large humbers. This method is called

SCIENTIFIC NOTATION. Scientific Notation is
based on powers Of the base humber 10.

The humber 123,000,000,000 ih sCientifiC hotation is
written as 1.23 X 10*. The first humber 1.23 is Called
the CoeffiCient. It must be greater thah Or equal to 1
and less thanh 10.
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Converting a humber from stahdard form to sCientifiC hotation:

gtep 1. Move the decCimal until you have a humber that is equal to or greater thah 1
and less than 10. If your number is really large, You Will move the deCimal to the |eft.
1F the number is really small, You would move the decCimal to the right.

Step 2: Find the exponent by counting the humber of places you moved the decCimal.

Step 3: Drop the zeros to get the CoeffiCient. Multiply it by the base 10 and inClude
the exponent you found in step 2. If you moved the decCimal to the right, your
exponent will be negative. If you moved the deCimal to the |eft, your exponent would
be positive.

@mmph: Write 234,000,000 in scientific notation.

@mmp& Write 0.000000234 in scientific notation.



